@ ADRIAN STEEL TRUSS ASSEMBLY, FSV

—— T

PRODUCT WEIGHT
14 LBS.

WIDTH x DEPTH x HEIGHT

55x3x2.5

CAPACITY
N/A

COLOR
GRAY

CATALOG NUMBER

TRA-FSV

PRODUCT FEATURES

Truss assembly designed to be mounted to full size van header
rails in the cargo area (cross car). The truss assembly provides
secure attachment point(s) for installing shelving units and other
products in the cross car position.

SEE PAGE 2 FOR APPLICATION NOTES AND ACCESSORIES, OTHER
PRODUCTS THAT WORK WITH THIS UNIT.

PAGE 1 of 2
The information contained in this document is the sole property of ADRIAN STEEL COMPANY. ADRIAN STEEL
COMPANY retains the right to modifty and/or change the product of its design at any tme without prior
notification.



@ RDRIAN}?_EEE TRUSS ASSEMBLY, FSV

P ey e Sl

cataLoc numBer TRA-FSV

PRODUCT APPLICATION

This product is designed to be used in full size vans (FORD and
GM)

ACCESSORIES THAT WILL WORK WITH THIS PRODUCT

CATALOG NUMBER DESCRIPTION

AD44LCV ADJUSTABLE SHELVING

OTHER AD SHELVING MAY REQUIRE ADDITIONAL MOUNTING
BRACKETS.

SPECIAL APPLICATION NOTES

PAGE 2 of 2
The information contained in this document is the sole property of ADRIAN STEEL COMPANY. ADRIAN STEEL
COMPANY retains the right to modifty and/or change the product of its design at any tme without prior
notification.



COVER PAGE

EN ot g R E e wod B b g g By g a e i X s e g
Carge Marggemend Bofuliong fy Conwrrreciad Valiitles

Assembly/Installation Instructions and Owners Manual

NOTE: THIS PRODUCT IS NOT DESIGNED TO BE INSTALLED FOR-
WARD OF THE PARTITION POSITION!

TRA-FSV
TRUSS ASSEMBLY, FULL SIZE VANS

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 42751 Revision Level: C ECN Release: 14727



ADRIAN STEEL

PAGE 2

Assembly/installation Instructions and Owners Manual

TRUSS CHANNEL, INNER | TRUSS CHANNEL, OUTER
42456-G 42457-G

PARTS YOU WILL (1) EACH (1) EACH

TRUSS CLIP SCREW, THP 1/4-20x.75
42620-G FAS0062
(4) EACH (4) EACH

STEP

FLANGE NUT, 1/4-20 | CARRIAGE BOLT, 3/8x1
FAS0055 FAS0102
(8) EACH (2) EACH

WASHER, 3/8 LOCKNUT 3/8-16
FAS0104 FAS0110
(2) EACH (2) EACH

Instructions for Step 01

FAS0102, FAS0104,
AND FASO0110 (2)
PLACES

SET LENGTH
TO MATCH HEADER
DISTANCE.

SET WIDTH
FOR SHELVING

UNIT. \/

IDENTIFYING WHERE THE
TRUSS WILL BE IN-
STALLED IN THE VEHICLE.
PRE-ASSEMBLE THE UNIT
SETTING THE OVERALL
LENGTH TO MATCH THE
CROSS CARWIDTH AT
THE HEADER LOCATION.

PLACE THE TRUSS AS-

\ SEMBLY INTO THE VEHI-
/ CLE AND MARK THE

MOUNTING LOCATIONS
FOR THE 5/16” PLUS NUTS
AND SET THE PLUSNUTS.

TORQUE FASTENERS TO
8 FT.LBS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 42751 Revision Level: C

ECN Release: 14727




ADRIAN S

St

TEEL

s ! Vosiid

PAGE 3

Assembly/installation Instructions and Owners Manual

FAS0086 5/16 FLAT FAS0082 5/16 x 1HEX FAS0098 5/16
WASHER FASOOQ}S’S&US'NUT HEAD SCREW LOCK WASHER
PARTS YOU WILL (2) EACH (2) EACH (2) EACH
USE FOR

STEP

FAS0063 5/16 x .75 HEX
HEAD SCREW
(4) EACH

ASSEMBLY FROM
PREVIOUS STEP

02

Instructions for Step 02

Y

N
,}’3 Q,V

FAS0062, AND
FAS0055 (4)
PLACES

FAS0063, AND
FAS0055 (4)
PLACES

BOLT THE TRUSS ASSEM-
BLY INTO PLACE IN THE
VEHICLE.

TORQUE FASTENERS TO
12 FT. LBS.

INSERT SHELVING UNIT
INTO PLACE AND BOLT
SHELVING UNIT TO THE
TRUSS ASSEMBLY AS
SHOWN.

TORQUE FASTENERS TO
8 FT.LBS.

CONTINUE THE SHELF
INSTALLATION ACCORD-
ING THE FLOOR MOUNT-
ING METHODS CALLED
OUT IN THE SHELVING
INSTRUCTIONS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 42751 Revision Level: C

ECN Release: 14727




